Horse Race
Eleven horses line up for a race

The horses are numbered 2,3,4,5,6,7,8,9,10,11,12

To move a horse roll two dice and ADD the results. Colour in a square each time.

Continue the race until the first horse finishes.  Then stick your ‘graph’ on the board.

Before you start think carefully of the probabilities involved and place a ‘bet’ on one of the horses. Once the race starts you cannot change horses
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Horse Race: Theory   Name: ____________
My Experiment Results

	Total Number
	
	
	
	
	
	
	
	
	
	
	

	Fraction


	
	
	
	
	
	
	
	
	
	
	

	Decimal
	
	
	
	
	
	
	
	
	
	
	

	Horse Number
	2
	3
	4
	5
	6
	7
	8
	9
	10
	11
	12


Class Total Experiment Results

	Total Number
	
	
	
	
	
	
	
	
	
	
	

	Fraction


	
	
	
	
	
	
	
	
	
	
	

	Decimal
	
	
	
	
	
	
	
	
	
	
	

	Horse Number
	2
	3
	4
	5
	6
	7
	8
	9
	10
	11
	12


Theory (What Should Happen)
	Number of ways of getting the dice total


	
	
	
	
	
	
	
	
	
	
	

	Total Number
	
	
	
	
	
	
	
	
	
	
	

	Fraction


	
	
	
	
	
	
	
	
	
	
	

	Decimal
	
	
	
	
	
	
	
	
	
	
	

	Horse Number
	2
	3
	4
	5
	6
	7
	8
	9
	10
	11
	12


Make a Graph to compare the three sets of results

How do the results compare?
Which horse should you place a bet on and why?
Theory
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Dice Total (Horse Number)
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